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P3-15

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR e

06:40 120 50.0 R 1R1%@06:40 (K FAIEREES)
07:40 120 50.0 (&= BRi&@07:40 (KRF1EREE)
08:40 120 50.0 5 B31%@08:40 (KFERH:E)
10:10 120 50.0 R Bi%@10:10 (FRAERHE)
11:25 120 50.0 i Rige11:25 (KRBAERE)
12:25 120 50.0 i BRig@12:25 (kPB{EREEE)
13:30 120 50.0 5 BRi%@13:30 (kAfEREE)
14:45 120 50.0 |Z= Big014:45 (REERSE)
16:15 120 50.0 |Z= B1%016:15 (RFERE)
231+11080.0 (9%) 450.0 323 KEC: 1900.0, PH: 6.0

EER € (120. 0) 5748 (109. 0) R FF

ZRIASLRRIERES5. 0 ml.

1 [ERECE (2145. 0 vs 2800.0) RS

FATREH T % ME#ER S Z XER
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P3-15_0, Day=6 (2025-04-06)
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Warning: col ['M_E'] missing
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P3-15

FfiE) | GEBIATI (7)) | EBE (EAH/HK) | XS EFE

06:45 180 50.0 [ B1%@06:45 (KRFERE)
07:30 180 50.0 i B31%@07:30 (KPB{EREE)
08:30 180 50.0 5 B1%@08:30 (KFERE)
09:35 180 50.0 i RR1%@09:35 (K F1ERLEE)
10:40 180 50.0 i B2i1%@10:40 (KRAERE)
11:30 180 50.0 5 Bi%011:30 (RAERSE)
12:10 180 50.0 (5 Ri%@12:10 (RAERSE)
12:50 180 50.0 i BRi%@12:50 (FKPIERSE)
13:35 180 50.0 A RR1%@13:35 (FRAIERLES)
14:15 180 50. 0 5 Bige14:15 (KL
15:00 180 50.0 i BRi%@15:00 (FKPAIERSE)
15:50 180 50.0 R B21%@15:50 (KRFEREE)
2it]2160.0 (12%) 600. 0 3EHKEC: 1560.0, PH: 5.8

R FEBETC (180. 0) 57 #A (106. 0) A 7F

ZRIASCPRIERES5. 0 ml.

[@;&EC 2570.0 K5, ZEiHBIKECAEZ hitRR

FATREH T % ME#ER S Z XER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=5 (2025-04-05)

V1, VEORRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET | 800
40 4670 T~
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20 38} 400
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

30. 25
- MNE - MNE —— wE| - MNE
2.5 | 30. 00
29.0 29. 50
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29. 25
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